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Warm Up

Solve:
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Graphing Linear Inequalities

1) | Solve for yl Make sure the equation is in Slope-intercept form,

2) Graph using slope and y-intercept. \/ Al ﬁ Q7 { [P‘{D (’( 2.0 mﬁ\

3) Solid or dashed line?

4) Shade above or below? [/({\€>S< ’ [ [/( m S
**Vertical Lines will be shaded to the right or left - >[ — —F‘:

** When the sign infront of the ¥ is negative, the direction of the inequality

changes!
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GSE Algebra | Unit 2 — Solving Equations & Inequalities ( R eg u Ia r)

Name: Date:

Graphing Linear Inequalities

Sketch the graph of each linear inequality.
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each. (Le antatoupes and y = honeydew melons)
a) Write a mathematical model (inequality) representing the total amount of money Mrs. Warren can spend at

the supermarket. &X 5
\ b) Can Mrs. Warren get 5 cantaloupes and have enough money7 If(j how manioneydew melons could she
8(S)+ 2y £2D =15
¢) Graph the inequality. Label both axes! kﬁ >/ - ( O
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p
2) Shane wants to spe@ﬂ&?ﬂrers at Home Depot. He wants to buy some mums for $5 a pot and

daisies for $4 a pot. (Let x = mums and y = daisies)

=
a) Write a mathematical model (inequazhjtyz(j)present g the total amount of money he could spend for mums

honeydew
= N W e B N QWO

and daisies. 5 >< ’F LJL O

b) Can Shane afford to purchase 3 mums and 6 daises? Show yoy work.
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¢) Graph the inequality. Label both axes!

Daisies
— N W = " 0 N D WO




	Page 1
	Page 2
	Page 3
	Page 4

